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IS 1

+/NER1-(FBE & 5 1%)] 0.120%0.90 = 0.108 m2
BIfEE: 2

+/NER1-(F5E 5 i%)] 3.440%0.90 = 3.096 m2
BB 3

+[/NER:1-(F5E & 5 1%)] 0.120%0.90 = 0.108 m2
BB 4

+/NER1-(FBE 5 i%)] 3.440%0.90 = 3.096 m2
LI BB B /NET: = 6.408 m2

LLE/NEt: +6.408 = 6.408 m2
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PNA21-01[#[E]: B1 [BiLf&EE&E]: &R 2 [X4:+82,Y17:-105]
B BRI E:
BIEERMRIAFE(NHWI-O0 000000 1E2EFEMIZEE)
FRF:
FESTHEER: 1
+[/ME:1-(F5 & Z 52H%)] 0.120*0.90 = 0.108 m2
T SIIEER: 2
+[/ME1-(F5E Z 52 )] 3.440%0.90 = 3.096 m2
FESIIEER: 3
+[/ME:1-(F3 & Z 52%)] 0.120*0.90 = 0.108 m2
FESTIEER: 4
+[/MB1-(F5E Z 52 )] 3.440%0.90 = 3.096 m2
YL LS HEE/MET: = 6.408 m2
LL_E/NVEt: +6.408 = 6.408 m2
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